1. (15 pts) Evaluate the following series, or state that it diverges.
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2. (5 pts) Does the series > o2 | =22 converge or diverge? Explain.
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3. (12 pts) Use the Integral Test to determine whether >, = con-
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verges or diverges. First show that the conditions for using the Integral
Test are met. Use proper notation.
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4. (10 pts each) Determine whether the following series are convergent
or divergent. State the test used, apply the test, and state the result.
Show all work and use proper notation.
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5. (12 pts) Determine whether the series > > E/—% is absolutely conver-

gent, conditionally convergent, or divergent.
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6. (4 pts) Circle the correct statement(s).

(A) The geometric series ) 7™ converges if |[r| > 1.

@A series Y a,, diverges if lim,,_,o, a,, = 1.
\/@A positive series ) a, diverges by the Ratio Test if
oo "ot > 1.

(D) A positive series Y a, converges by the Ratio Test if
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7. (10 pts) Find the 3¢ Taylor polynomial p; of the funtion cos 2 centered
at x = 0.
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8. (12 pts) Find the interval and the radius of convergence of

Z(—l)"@-

(Make sure to check the end-points of the interval separately!)
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